Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

;s (000 GeV pp Jets
10 = I T I T I T I T | T I T I T I T I T | T I T I I T = ﬂ
— o
_ [ Filtered dijet mass(anti-k (0.7), 21000<p <1500, ly|<25) 13
10 = 3=
- 3N
- — M
10 = —n
— O
— O
S =R
— 1=
102 = l_E o
10_2 = =_
— — O
[ ] %2
-3 _
- m CMS 33
10™* = —— Pythia 8.308 default _§>%
— ---+-- Pythia 8.308 tune-AU2 =
1075 ;_ --<-- Pythia 8.308 tune-AU2lox _;S
E -8 -- Pythia 8.308 tune-AU2loxx E =
s [ — Pythia 8.308 tune-AU2m 48
10" = — 9
= =Re)
— ey
107 = | , | = -
2 & =2
1 1
0.5 —0.5
1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1
0 100 200

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


